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SOCIOLOGY

The perspective which is based on the belief that
women are everywhere violently oppressed by
patriarchy is :

(A) Radical Feminism

(B) Socialist Feminism

(C) Psychoanalytic Feminism

(D) Liberal Feminism

Which of the following are the characteristics of

Modern society ?

i  Familialism ii. Liberalism

ii. —Dogmatism iv. Market economy
v.  Secularism

(A) iiiandv B) ii,ivandv

(C) ii,iiiandiv D) i,ivandv

Who is the author of a book “The passing of
Traditional Society”?

(A) E.S.N.Eisenstadt (B) Talcott Parsons

(C) YogendraSingh (D) Daniel Lemer

The clanisan:
A)
®)
©)

Endogamous kinship group

Exogamous kinship group

Both endogamous and exogamous kinship
group

(D) None ofthe above

Which of the following Sociologist has presented the
classification of Agrarian Social Structure in India?
(A) S.C.Dube (B) Irawati Karve

(C) Daniel Thomer (D) RobertRedfield

e

6.

10.

11.

Displacements of human beings are caused by :

1. Construction of Trrigation Projects

2. Laying of four lane, six lane roads

3. Construction of Special Economic Zones
4. Housing Schemes

(A)
®)
©
D)

e

1 and 2 are correct

1, 3 and 4 are correct

1, 2 and 3 alone are correct
2, 3 and 4 are correct

s

Ethnomethodologists use.
(A) Breaching
(C) Etcetra

experiments.

(B) Listening
(D) Langeter

The biological capacity of child bearing in a woman
iscalled :

(A) Birthrate
(C) Fertility

(B) Pregnancy
(D) Fecundity

Michel Foucault used the concept of bi-powet, which
includes:

(A) Knowledge, Power and Pleasure

(B) Disciplineand Punishment

© Discourse and Discontent

(D) Content and Discontent

The intermediary position ina Guild System between
Guild Master and Apprentice is : '

(A) Craftsman (B) Foreman

(C) Journeyman (D) Keyman

The Bhopal Industrial disaster took place affecting
5,21,000 people through death or gas related illness

in the year
A) 1974 B) 1984
(C) 19% . (D) 2004
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12.

13.

14.

15.

(A)

The title of the book authored by Peter Berger and
Thomas Luckmann :

(A) ThePhenomenology of the Social World

(B) Phenomenology and Social Relation

(C) The Social Construction of Reality

(D) Sociology of Knowledge

When a caste consolidates horizontally and asks for
special policies for its development, it acts like a :
(A) Political Party (B) Pressure Group

(C) DominantCaste (D) Class foritself

Based on the following statements, which of the codes

is correct ?

Statement I: Caste status is ascribed to the individual
by birth, whereas class status is
achieved by individual.

Statement I1: Both class and caste are endogamous

social units.

Iis true but ITis false

Iis false but Il is true

Both I and II are true

Both I and Il are false

A)
®)
©
D)

Match the following :

a. KakaKalelkar 1. Investigate the Death
of Subhas Chandra
Bose

Backward Class
Commission
Investigate the Death
of Mahatma Gandhi
Pattern of Education

inIndia

b. Kothari 2.

c. Kapur 3

B)
©)
D)
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16.

17.

18.

19.

20.

Emile Durkheim has made a distinction between the
following two types of solidarity

(A) Mechanical Solidarity and Organic Solidarity
(B) Structural Solidarity and Functional Solidarity
(C) Organic Solidarity and Social Solidarity

(D) Social Solidarity and Functional Solidarity

is an unconscious self which determines

the activity of a person.
(A) Id ~ (B) Ego
(C) Reflexivity (D) Superego
Match the following :
Author Book
a. DavidHarrisson 1. EndofHistoryandthe
Last Man
b.  Samuel 2. Challenge of World
P. Huntington Poverty
c. FrancisFukuyama 3. Sociology of
Modemization
and Development
d. GunnarMyrdal 4. Politicalorderin
Changing Societies
a b c d
Aa 3 1 4 2
@) 4 3 21
< 2 1 4 3
D 3 4 1 2

“Protestant Ethic and the Spirit of Capitalism” was

the classic work of :
(A) EmileDurkheim (B) Max Weber
(C) TalcottParsons (D) Karl Marx

The Green Revolution was introduced in India during

theyear:
(A) 1964-65 B) 1968-70
(C) 1966-67 D) 1971-72
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21. Giddens defines modemnity in terms of :
1. Capitalism
2. Control of means of violence
3. Industrialism ;
4.  Globalization
5.  Surveillance capacities
(A) 1,2,3and5 B) 1,2,3and 4
(C) 2,3,4and5 D) 1,3,4and>5

22. Accordingto 2011 Census Report Urban 'Population
inIndiais:

(A) 27.8% B) 31.2%
C) 332% (D) 28.5%

23.  Which of the following Sociologist is not concerned
with the concepts of Little Traditions and Great
Traditions ?

(A) D.N.Majumdar (B) RobertRedfield
(C) Melton Suiges (D) Mckim Marriot

24. Which ofthe following are not related to the measures
initiated under Land Reforms in India ?

(A) Tenancy Reforms and Ceilings on Agricultural
land holdings

(B) Abolition of intermediaries and consolidation of
land holdings

(C) Corporate farming and land lease

(D) Reorganization of agriculture and redistribution
ofland

25. The Concentric Zone Theory related to the patterns
of Urban Growth was propounded by :

(A) Hoyt B) E.J.Miller
(C) M. Carstairs (D) Burgess

26. Harry Braverman argues that modern capitalism has
produced manufacturing division of labour as a
consequence work is :

(A) Augmented (B) Curtailed
(C) Deskilled (D) Skilled
CMB-33154

27.

28.

29.

30.

31.

[ S

Scientific Management was propounded by :
(A) HarryBraverman (B) F.W.Taylor
(C) E.B.Tylor (D) Pennock

The corner stone of Functional Theoryis :

(A) Parts (B) Interconnection
(C) Consensus (D) Inequality

Which of the following are the methods of Settlement

of Industrial Disputes ?
1. Conciliation 2. Cooperation
3.  Arbitration 4, Adjudication
5. Participation
(A) 1,3,4 alone are right
(B) 1,2,4areright
(©) 1,3,4,5areright
(D) Allareright
Match the following concept/ notion with thinker in
the context of modernity :
Notion Thinker
a. UnfinishedProject i  Anthony Giddens
b. Runway ii. ZygmundBauman
c. Holocaust ii. UlrichBeck
d. RiskSociety iv. Habermas
a b ¢ d
A i i@ iv 1
B) i i vl
(© i i i v
O iv i 1@ i
In phase of industrial society,
production is organized according to principles of
flexible specialization.
(A) Modemism (B) Fordism

(C) PostFordism (D) PostIndustrialism
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32, Based onthe following statements, which of the codes
is correct ? '
Statement I: Psychological Theories see deviants as
not different from the population.
Statement I1: The abnormality they have predisposes
him/her to deviance.
(A) listruebutllis false
@) [lisfalsebutll is true
(C) Bothl and II are true
(D) BothlandIlare false
33. The French Sociologist who worked on the Trinity
of Knowledge, Power and Truthis:
(A) Auguste Comte (B) EmileDurkheim
(C) Lyotard (D) Foucault
' 34. Match the following :
Theoretical perspective Social Thinker
a.  Structural- i David Hardiman
Functional
Perspective
b. Marxian i N.K.Bose,
Perspective
¢.  Civilizational i, M.N. Srinivas
Perspective
d.  Subaltern tv. D.P.Mukherjee
Perspective
a b c d
A i v 11
By m 1 i
() i i Wi
O i 1 Wi
35. The Death of the subject we find in
perspective.
(A) Organicist B) Conflict
(C) Interactionist (D) Structuralist
CMB-33154
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36.

37.

38.

40.

41.

Modern society is not a single social system with
related parts but several systems with some commonly
recognized institutions :

(A) Geoffrey Alexander(B) Niklas Luhman

(C) George Ritzer (D) Talcott Parsons

The concept of ‘BIMARU’ states was givenby:
(A) AshaBhinde (B) TaraKanitkar
(C) Dr Chandrasekhar (D) Dr. Ashish Bose

The of lower castes of the ways of
higher castes, which M. N. Srinivas calls Sanskritization.
(A) Social Conflict :

(B) Imitative Behaviour

(C) Anticipatory Socialization

(D) Social Change

The gap that exists between Material Culture and Non-
material Culture is called Cultural Lag by :

(A) William Frankhiem (B) W.L Thomas

(C) W.F.Ogbum (D) Karl Manheim

The classification of Action into Logical and Non- §
logical Action was givenby

(A) Max Weber (B) Vilfredo Pareto
(C) Talcott Parsons (D) R.K.Merton

Based on the following statements, which of the codes

is correct ? ;

StatementI: According to Habermas society is

composed of bothlife waorld and system.

Statement II: System in themodern world has come
to be controlled by life world restricting
communication.

Iis true but ITis false

Iis false but [T is true

Both I and I are true

Both Iand Il are false

(A)
B)
©
D)
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43.

44,

The typology of Social Action given by Max Weber
i8¢
i Rational Action in relation to Goal
Rational Action in relation to Value
. Traditional Action
iv.  Moral Action
(A) iandiiareright (B) iiandiiiareright
(C) iiiandiiiareright (D) iiiandiv areright

Which of the following are correct ?

L Only theory is not enough for revolutionary
change _

ii. ~ Theory should not be an armchair exercise

iil.  Theorist should have potential to practice it

iv.  To bring revolution, theorists should motivate
change |

(A) iandiiareright

®)

©)

D)

1, 1iand iii are right but iv does not go well with it
i, ii and iii are right
all are right

What is ethnomethodology ?
(A)
B)

The study of sociological research methods
The study of the methods people use to make
sense of the world

©)
(D)

The study of language in everyday conversations

The use of experiments in sociological research

Who js the author of the book ‘The Presentation of
selfin Everyday Life’ ?
(A) Garfinkel

(C) G.H.Mead

(B) Goffman
(D) C.H. Cooley

CMB-33154
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46.

47.

48.

Match the following :
Name of the Book
Author
a.  Paul Baran i Dependencyis Dead:
LongLive Dependency
and Class Struggle
b.  Samir Amin i.  Thestagesof Economic
Growth
c. Rostow ii.  Crisis of Nationalism
and Socialism
d. Andre Gunder iv.  ThePolitical Economy
Frank of Growth
a b ec-d
(A) i @i i v
B) ii i v i

©) iv i i i
(D) i v i i

Garfinkel’s experiments were designed to :

(A) Find out how easy it is to annoy people

(B) Make people be specific about their meaning
(C) Identify unstated assumptions involve in talk
(D) Investigate non-verbal communication

Which of the following Act enforces the employers to
provide maternity benefit to women employees
disablement benefit and medical benefits to all the
employees ?

(A) Workmen’s CompensationAct, 1923

(B) The Employees Provident Fund and
Miscellaneous Provisions Act, 1952

The Payment of Gratuity Act, 1952

The Employees State Insurance Act, 1948

©
D)
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49. Based on the following statements, which of the codes

50.

51.

(C) Trade Union

is correct?

Statement I: The number of female babies bom is
always higher than male babies

Statement II: Starting from conception, the death
rate of females is higher than that of
males

(A) IistruebutlIlis false

(B) [Iis falsebutllistrue

(C) BothlandIlaretrue

(D) BothIandIlare false

A small group of employees in the same work area
or doing similar type of work who voluntarily meets
regularly for about an hour every week to identify,
analyse and resolve work-related problems not only
to improve quality, productivity and the total
performance of the organization, but also to enrich
the quality of work life of employees. This is known
as:

(A) Task force (B) Qualitycircles

(D) Professional Union

Who among the following has introduced the term
‘subaltern’ ?
(A) Louis Althusser (B) B.R.Ambedkar

(C) G.S.Ghurye (D) Antonio Gramsci

52. According to Anthony Giddens, the trajectory of
modernity consists of the following :
1. Industralization 2. Capitalism
3.  Self-Identity 4. Rampant Technology
(A) 1,3and4 B) 2,3and 4
(C) 1,2and3 D) 1,2,3and 4

CMB-33154
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54.

55.

56.

Match the Author with his Book :

Author. Book
a. Derrida i Imagined
Communities
b. Benedict :
Anderson ii. Reading Capital
c. LouisAlthusser i Dialectsof
Enlightenment
d. Adornoand
Horkheimer iv. Of Grammatology

a-< b “¢cd
(A) iv i il i
®) iv- i i i
(C) iii 1 i iv
(D) i

fooiiv

Which of the following work was not contributed by S8 1

Giddens ?

(A) New Rules of Sociological Method
(B) The Consequences of Modernity

(C) Capitalism and Modern Social Theory
(D) Modemity: Beyond Left and Right

Who among the following was the pioﬁeer in
propagating ‘End of Ideology’ ?

(A) DavidHarvey (B) DanielBell

(C) JacquesDerrida (D) Michel Foucault

Which of the following Sociologists are concerned with
the Racial theory related to the origin of Caste System ?
(A) Nesfieldand G. S. Ghurye

(B) Herbert Risleyand G. S. Ghurye

(C) J.H.Huttonand D.N. Majumdar

(D) Louis Dumontand Nesfield
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38.

59.

60.

61.

62
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Shetkari Sanghatan Movement is associated with |63.
which of'the following State in India ?

(A) Maharashtra
(C) Punjab

(B) Tamil Nadu
(D) Kerala

Samir Amin has divided the World Systems into the
following two sectors :
(A) The Core and the Periphery

(B) Self-Centred Systems and Peripheral Systems 64.

(C) Internal Sector and External Sector
(D). The Periphery and the Semi -periphery

The term Demography was used for the first time by:
(A) Malthus (B) Graunt
(©) Guillard (D) Petty

Based onthe following statements, which of the codes

is correct ?

Statement I: Malthus is regarded as the father of
Demography.

Statement II: He published an essay proposing
his theory of population in 1798.

(A) listruebutIlis false

(B) Iis false but IT is true

(C) BothIandII are true

(D) BothIand]II are false

Demography basically is a study of :

1. Births 2. Migration

3. Deaths 4. Stratification
(A) 1and3 B) 1,2,3 and 4
(C) 1,2and3 (D) 2,3 and 4

Based on the following statements, which of the codes

is correct ? ,

Statement I: Population census is a union subject.

Statement II: It is under the Ministry of Human
Resources.

(A) listruebutIl s false

(B) Iis false but Il is true

(C) BothIandII are true

(D) BothIandII are false

| [

65.

66.

The number of people born to 1000 populationina
yearis :

(A) General Fertility Rate

(B) Fertility Rate

(C) Total Fertility Rate

(D) CrudeBirth Rate

Based on the following statements, which of the codes

is correct ?

Statement I: It is not mandatory for all persons to
answer the census questions truthfully.

Statement II: The information given to census
enumerators cannot be used in courts
as evidence.

(A) listruebutIlis false

(B) [Iisfalse but I is true

(C) BothIandlII are true

(D) BothIandII are false

[dentify the correct order in which the following took
place:

1. England Population Census

Indian Population Census

. Population Census of USA

(A) 3,land2 B) 1,3and2

(C) 2,1and3 (D) 3,2and 1

L D

Based on the following statements, which of the codes

is correct?

StatementI: InIndia, F ertility Rate is lower than
Mortality Rate.

Statement I1: The proportion of people using
temporary contraceptives is high.

(A) listruebutIIis false

(B) [Iisfalse butIlis true

(C) BothIand]II are true

(D) BothIandII are false

Paper-IIT



67. The population pyramid of a population that

68.

69.
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Find the correct match :
a. BettyFriedan 1. Vindicationofthe
Rights of Women
b.  Mary Wollstonecraft ii. TheFeminine
| Myslique
c. KateMillet ii. The Conceptof
Cage
d. Maryline Frye iv. The Sexual
Politics
g b gds
A iv i il i
(B) i 1 il v
€ i 1 iv iii
D) 1 i v i
Which ofthe following adopted the action plan, ‘when

underwent higher birth rate than death rate for several
vears will have which of the following ?

(A) Wider at the bottom than at the top
(B) Bulgingatthe middle

(C) Uniform width

(D) Wider at the top than in the middle

cultural traditions conflict with women’s rights,

women’s rights should take precedence’ ?
(A) Beijing World Conference on Women, 1995
(B) Nairobi World Conference on Women, 1985

(C) Special Session of the UN General Assembily,
NY, 2000

(D) Copenhagen World Conference on Women,
1980

B

70. Given below are two statements, one labeled as
Assertion (A) and the other as Reason (R)

Assertion (A): Talcott Parsons held that men perform

instrumental roles while women

perform expressive roles.
Reason (R): According to him, the biological
division of labour leads to gender
roles. '
Which of the following is the correct answer ?
(A) Both(A)and (R) are true and (R) is the correct
explanation of (A)
(B) Both (A) and (R) are true and (R) is not the
correct explanation of (A)
(C) (A)istruebut(R)is false
(D) (A)isfalsebut (R)istrue

Questions 7 1-75 : Read the following passage an _ |
answer the questions that follow : ]

Two continua of social reality are useful i

developing the major levels of the social world. The A"

first is the microscopic-macroscopic continuum.

Thinking of the social world as being made up of a
series of entities ranging from those large in scale to
those small in scale is relatively easy, because it is so
familiar. Most people in their day to day lives conceive
of the social world in these terms.

The continuum is based on the simple idea that
social phenomena vary greatly in size. At the macro
end of the continuum are such large-scale social
phenomena as groups of societies (for example, the
Capitalist World System), Societies and cultures. At
the micro end are individual actors and their thoughts
and actions. In between are a wide range of meso-
level phenomena groups, collectivities, social classes
and organizations. We have little difficulty recognizing
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these distinctions and thinking of the world in micro-
macro terms. There are no clear dividing lives
between the micro social units and the macro units.
Instead, there is a continuum ranging from the micro
to the macro ends.

The second continuum is the objective-
subjective dimension of social analysis. Ateachend
of the micro-macro continuum (and everywhere in
between) we can differentiate between objective and
subjective components. At the micro, or individual
level there are the mental subjective processes of an
actor and the objective patterns of action and
interaction in which he or she engages. Subjective
* here refers to something that occurs solely in the realm
of ideas, objective relates to realm material events.
This same differentiation is found at the macro end of
the continuum. A society is made up of objective
structures, such as governments, bureaucracies and
laws and subjective phenomena, such as norms and

In general, an objective social phenomenon has
a real, material existence. We can think of the
following, among others, as objective social
phenomena: actors, action, interaction, bureaucratic
structures, law and the state apparatus. It is possible
to see, touch, or chart all these objective phenomena.
However, there are social phenomena that exist solely
in the realm of ideas; they have no material existence.
These are sociological phenomena such as mental
processes, the social construction of reality (Berger
and Luckmann, 1967), norms, values and many
elements of culture. The problem with the objective -
subjective continuum is that there are many phenomena
in the middle that have both objective and subjective
elements. The family for example has a real material
existence as well as a series of subjective mutual
understandings, norms and values. Similarly, the polity

CMB-33154

71.

72.

13-

is composed of objective laws and bureaucratic
structures as well as subjective political norms and
values. In fact is probably true that the vast majority of
social phenomena are mixed types that represent some
combination of objective and subjective elements. Thus
it is best to think of the objective-subjective continuum
as two polar types with the series of variously mixed
types in the middle.

Statement I: In the analysis of social reality two
continua are useful. They are: Micro-
Macro continuum and Object-
Subjective dimension.

Statement II: Social reality is very simple to
understand, hence we need simple
models.

(A) listruebutIlis false

(B) Iisfalsebutllistrue

(C) BothIand Hare true

(D) BothIand Il are false

Statement I: At the Macro end we find large scale
social phenomena and at the micro level
we find individuals action and thought.
In between Micro and Macro there are
intermediary Meso level phenomena

Statement I1: It is not that difficult to recognize that
distribution between Micro, Macro
Meso level phenomena.

(A) IistruebutlIlis false

(B) lisfalsebutIlis true

(C) BothIandIIare true

(D) BothIand Il are false

Subjective phenomena occurs in the realm of :

(A) Action (B) Interaction
(C) Material (D) Ideas
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74. Objective social phenomena has

existence.
(A) Material
(C) Psychic

CMB-33154

(B) Mental
D) Socio-P sychic

75. Vast majority of social phenomena have :
(A) Objective existence
(B) Subjectiveexistence '

(C) Material existence
(D) Both Objective- Subjective existence
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